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QUESTION 1

Given the following SQL statement:

Given t2hles tab1 and tab?2 as -
tab1 coll col?
1 1

MERGE INTO TAB1 USING TAB2 C
YWHEN MATCHED THEN DELETE

WHEN MATCHED THEN DELETE What does the merge statement do?
A. Deletes rows in tab2 that match the condition coll = c1.
B. Deletes rows in tab1 that match the condition coll = c1.

C. Deletes rows in tabl that match the condition coll = c1 and deletes rows in tab2 that do not match the condition coll
=cl.

D. Deletes rows in tab1 that match the condition coll = ¢c1 and insert rows in tab1 from those in tab2 that do not match
the condition.

Correct Answer: B

QUESTION 2

Which storage space should be used to store columns defined as a BLOB or a CLOB?
A. sbspace

B. dbspace

C. extspace

D. blobspace

Correct Answer: A

QUESTION 3
What two parameters can affect how often checkpoints occur? (Choose two.)
A. LOGSIZE

B. PHYSFILE
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C. LTAPEDEV
D. BUFFERPOOL
E. BAR_PROGRESS_FREQ

Correct Answer: AB

QUESTION 4

If SQLTRACE is enabled, what information is displayed by this statement? select max(sql_runtime) from syssqltrace;
A. The SQL statement with the least wait time.

B. The SQL statement with the least I/O wait time.

C. The SQL statement with the most I/0 wait time.

D. The SQL statement with the most execution time.

Correct Answer: D

QUESTION 5

Which two objects are NOT included in a backup? (Choose two.)
A. Tables

B. Indexes

C. External tables

D. Simple blob data stored in simpleblobspaces

E. Basic text search indexes stored in externaldbspaces

Correct Answer: CE
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